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Kennwerte

J1=J9 =720 000 cm#4
Eq=Ep= 21107 kNim?
Aq= Ay = 2400 cm 2

( Rechteckquerschnitt 40/60 cm )
G1= Gy = 09107 kN/m?

®q1=%9=12 (Rechteck)

A3=4cm2
E3= 2,1 108 kN/m?

Gewahlt: JO =J»| , EO =E1

EINFLUSS DER QUERKRAFT




Ui=Uy=15; L5=108 ; L'y =L = 0,126

a0 1,5%120(—1,5) + 0,126 (—80)1
———

aqo = —100,1 aus V in Stab 1

a11 1,5%(—1,5)2 + 1,513(_1,5)2 +

+ 108-1-1 +
—
aus N in Stab 3

+0,126-1-1+ 0,126 (—1)(—1) = 13,3
N———— N~ S —
aus Vin Stab1 ausVin Stab 2

aqq Xq = —aqy daraus X4 =7,53

Superposition
Mg = 120 + 7,53 (—1,5) = 108,7 kNm

Mp=0 +753(—15) = —11,3kNm

EINFLUSS DER QUERKRAFT



@J 72,47 7,53 F
V
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